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Attempt questions

1

a) Never establishes

b) Establishes after completion of reaction
¢) Establishes before completion of reaction.
d) Establishes very soon

Units of K, for the reaction H, + I, ———=2HI

are:

b)mol ' dm’
d)No units

a)mol 'dm”
¢)moldm”

N,+3H,——=2NH, Kc=2.86 mol'dm’

a) onlyNH, b) N,,H, and NH,
¢)N,and H, d) only H,

4 The reversible reaction is represented by:
a)— b) —
D a— di =

The molar Concentration is expresSedin:

a) {} b)[]
)0 dAIT

a) Hydrogen add'©Xygen
b) Nitrogen and Hydrogen
¢) Nitrogen and Oxygen
d)Oxygen and Water

because of:

CaCO,—~> CaO +CO,

a) High Temperature

b)CaO is more stable than CaCO,
¢) CO, escapes continuously

d) CaO is not dissociated

When the magnitude of Kc is very large it indicates:
a) Reaction mixture consist of almost all products
b) Reaction mixture consist of almost all reactants

c) Reaction has not gone to completion
d) Reaction mixture has negligible products.
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The dynamic equilibrium in irreversible reaction:

The two major compOnents of atmosphere are:

In the lime kiln the following reaction complete
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H + [, ——=2HI
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a)mol 'dm” b)mol 'dm’
¢)moldm” d)No units

Nitrogen and Hydrgen react to make ammonia. u:/:((jid,g‘agt,.py;}léu%,/jﬁd?,/"’t
What will be present in the equilibrium mixture:
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N,+3H,——=2NH, Kc¢=2.86 mol'dm’
a) onlyNH, b) N,,H, and NH,
c)Noand H, d) only H,
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